1 8
h
) .a
o ] o]
T O}\
[50" A4
1190
35 1103 52
NER Q @ ’D%ﬁ 2
\I \I
4
AN
L
\‘g S 3|5
= SIS
C
g,
Y\ \ y
@éé@f ® 9 s
Q
(@]
; o @
0550 BUR (/20

Anafl. &ESO8
) AROKREIASETETT,

(BFBR (17 8)

» i< LR PR

vy y-5MELC (LCD

H2000

1190 (AR

KFTHO2010% 3

8

™~

=

N~

O8N (1/8)

® OO

NERGHEBR (17 8)

HE LRI B % (mm) i B i z

1 BAE (FAEAY) 050x50xt3.2 STKR400 HENRER (ThiEfin- &)
2 FEE HHAY) 050x50xt3.2 STKR400 HENBRER (TEHY- &)
3 FEHE (RAD 50x120 AB063S BRBILEAKE

4 FEME GRAD 50x 120 AB063S BRBILEAKE

5 PR 25% 60 AB063S BRELEARE

6 HML AN t3.0 7V IRERBEAR -

7 v - F - ITANY- -

8 fEwn - 12 A1100P 2%

9 Rivy 7 ¢ 16/ F40Y -

10 vy 45—t LCyy-% - y7 58

11 SRR TL - b t2 ATYUA -

12 FERFTL - b t2 ATYLA -

13 R 060x 30xt2.3 STKR400 HENRER (FhiEfin- &)
14 BExey 7 060x 30/ PE -

15 EYYR té SPHC EREEE (TEf»- %)
16 kyy té SPHC HENRER (ThiEfin- &)
17 kY ISk $12 SGD ERldsin o &

18 gy 4x 20 ATYUA -

19 Eg 12 &l -

20 ZED) 3.2 SGH EREEE (TEf»- %)
21 R b M10x75 4.618% BRIEHn - &

22 ¥Ih2y M5x 10 ATYLA -

23 " M4x 10 ATYUA -

24 FTABRY M8x 45 ATYUA -

25 BHEN2Y M6x 15 ATYUA -

26 F7A by = H52 VIS4 NHAG -

() BRAREIIROLS. FELEBTHILNHYVET,
BEBHE: VY5 -3 BHFEEARVET,

yyy-5 (v75z8) LC (LCD vV -A& CEASLE TN,
(Ky sty ¥64mm\ EES50mm) )
TEOBAE. RT3 -y VY I-%ITBALETD,




